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L__g%o.n\-h MS - an introduction.

A) 1*4¢,+.m+.(._«j example.
Tty known thot rodiom 226 decoys occording to

dR = -kR, R(o)=R,,
4t
1
wohere k"é7 \/ea-r‘-l ts the &cccu.{ rote and Ro 'H‘C— IIM\‘\QJ

O-W\Duh‘t .

Quesbion’ whats the “hal§=fe’ 7 of codiom AR6, meanmy’
hous l?_m does i take for a so.mP‘e- to aﬂa«ul 6&1 hal$ 2

Solu‘l’con. We I<uow, ‘3(, (E&) oF 2//8) \L,La.{
(%) R(t) = R,,cs—!<é
We wast to fnd T so that R(T) =X Ry,or, by (%)

k7
Ree = 'a'TRD.

To sole for T we dnide bcl Ro°

e KT = 7&.

Bt now, hows do we ;cje.f T out of the exPomf " to solve for 77

ceol. EACT © T he answer lies m a fonction pueve Secen
o-lreoJZ»( I

SP“‘Q"“N‘D e hove :
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B) The notural fogarithin fonchion.
Recall thaty i 520, then h(h) i the number such #hak

2 %= )b, (>¢)
dx

NO“C U.)‘/\.O:k ke-wcws WM Pu{' 1 Afeq for soOMme rz:a.‘ '\u}v.éz-r o
(h On 'H/sc ohe l«cuth, (*){_’3!\/65
4 L (:Q)xls ln(eq)(¢a)x In(< ) . (A)
A¥

7
x (Vt) \(’rcws Mondl
(DA On the o'l'Lcr W '-LV GV
4 C)]- _&_ [e27]:= o & Coxl =ge . (B)
dx Ax
oK ax

co,ura..t (R and) (8, v fird) Ehes? n(e*) e’z ce .
|v| it 6(4\,6 "'Ll‘c’ﬁL\ 57 Q f[cv\élvcs:

In(e®) =a (FLIP)
for anm] rec] pumder o

Thot »° t\(:ch_mj n of 2 °3c_'l'5 the a. out of the eX/bomeuf. !
() Metvoting excm (': revisdef wc_‘jo'{z {o fhe Pomf

where we Lacant fea solue

A o
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Nou.: e cc..\nl Name.ly, QPP'LI “‘n” to ‘)ofl\ s1des

'n(e-k‘(): ln(l/a)
So b'/ (FLIP),

-k = /n(\/a)
Ye =in(a) = =In(h) = 1619.%%5...
k 1/3331

Conclusion * Fodivm &26 has o half-Ife of about (619.2%5 yeors.

(D) Grephicad mderpretation. 5
Mote. thed the function y=e  {fakes an wmpct a o »
oW eu"',(:;u't CQ. Bu't (FL /P) SGJ-{S M 7/‘5/V\(><) HLo=r ﬂne \}uvcrsc:
l‘t 'fo.kes aw ,v\rl:t C.q €c> Qin e(_,'l(:u'é G.. Inh soi :

e”: c.—?eq >/=ey ounk) YS/m(X> Gre

IVl( X) . eq—9 a InWers= ?ubcﬁov\.s

Gcowginc,a.l ) ) \ w "l' kdﬂ Odl Ct &mm«fs 'fo s LY
horizentel :&(h :jfﬂ, reln wspéo “‘0“1’;’2;\7” (chtgﬁﬁ)
o.foou't ‘6‘\1:. lmc Y=?<.

<O \/ :lh()() is 'a\z. 'P/:P Q’C Y:CX M )/-‘:X. Plc:('ur-c,l

F(lr Aéou—t y =X



